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Sclect the correctly spelt word.
(A) Knowledg  (B) Knowledge
(C) Knowlege (D) Knoledge.
From the given options, identify
the segment in the sentence which
contains the grammatical error.
Computers evrywhere use random
numbers as keys to locked or
unlock encrypted information.
(A) encrypted information

(B) Computers everywhere

(C) use random numbers as

(D) keys to locked or unlock.

Select the most appropriate option
to substitute the bold segment in
the given sentence. If there is no
need to substitute it, select No

improvement.

The convict was informed that the
judge will heard  the case
tomorrow.

(A) judge would hear the case

(B) judge will hearing a case

(C) judge hears a case

(D) No improvement.

Select the word which means the
same as the group of words given.
A place in a large institution for
the care of those who are ill.

(A) Camp (B) Clinic

(O) Infirmary (D) Shelter.
From the given options, identify
the segment in the sentence which
contains the grammatical error.
It makes us realise how unsuitable
our education system are because

it cannot help us deal with life’s
most basic issues.

(A) education system are

(B) it canpot help us

~(C) life’s most basic issues

81.

82.

83.

84.

85.

(D) It makes us realise.

Select the antonym of the given

word.

INDOLENT

(A) Lively (B) Lifeless

(C) Sluggish (D) Inert.

Select the most appropriate option

to fill in the blank.

Rescarchers say that about 33%

of people with diabetes may...... a

skin disorder in their lifetime.

(A)have been  (B) have

(C) has been (D) has.

Select the most appropriate option

to substitute the bold segment

in the given sentence. If there is

no need to substitute it, select No

improvement,

He is felt extremely unhappy

yesterday because of the inordinate

delay of the messengr.

(A) He have been feeling extremely
unthappy yesterday

(B) He has feeling
unhappy yesterday

(C) No improvement

(D) He was feeling
unhappy yesterday.

Select the synonym of the given

word.

BOUNTIFUL

(A) Pretty (B) Spiritual

(C) Generous (D) Religious.

Select the most appropriate option

to substitute the bold segment in

the given sentence. If there is no

need to substitute it, select No

improvement.

The newly-launched mobile phone

application has been a great

extremely

extremely

" support for people in remote areas

of the country,

(A) applications has been a great
support

(B) ‘No improvement



(C) applications will been a great
support

(D) application have been a great
support.

Select the most appropriate word

to fill in the blank.

If you havea...... for photography,
You do not have to wait for your
big break.

(A) passion (B) demand

(C) claim (D) response.
Select the word which means the
same as the group of words given.

A close fitting cover for the blade
of a knife or sword.

86.

87.

(A) Packet {B) Pouch
(C) Sheath (D) Mask.
88. Select the synonym of the given
word.
ELAPSED
(A) Persuaded  (B) Connected
(C) Ceased (D) Prolonged.
89. Select the most approi)riate word
to fill in the blank.
The complexity of the current
environment  includes many
challenges in general, but air
pollution in......
(A) particular (B) common
(C) overall ' (D) public.

Directions (90-94) : In the follow-
ing passage some words have been
deleted. Fill in the blanks with the help
of the alternatives given.

Man is a ‘social animal’. Hence,
showing a (90) behaviour is equivalent
to showing an animal behaviour.
Psychologists (91) that though violent
behaviour is inherent but it can be
managed. Providing a healthy and
cordial home environment to kids help
them to build strong family values and
reduce the (92) to react violently.
Rehabilitation homes and support
programs are available for those (93)
need professional help. Meditation and
practicing yoga also helps to (94)
negative attitude towards self and others.
90. (A)submissive (B)ambitious

(C) helpful (D) vicious.

91. (A) says (B) saying
(C) speak (D) say.
92. (A) tendency (B) aimy
(C) preference (D) choice.
93. (A) whom (B) when
(C) who (D) whose.
94. (A) deal (B) increase
(C) unsettle (D) rectify.

Directions (95-96) : Sclect the
option that means the same as the given
idiom.

95. To bury the hatchet
(A) To make someone happy
(B) To make peace
(C) To butry an axe
(D) To bury old utensils,
To turn over a new leaf
(A) To turn over the page of a book
(B) To change one’s behaviour for
' better
(C) To be always careful about
one’s behaviour
(D) To make new things happen.
97. Select the correctly spelt word.

(A) Imfrastructure

(B) Infrastructur

(C) Infrastructure

(D) Infrastracture.

96.

98. Select the antonym of the given
word.
ASSAULT ,
(A) Offend (B) Strike
(C) Agree (D) Defend.

99. Select the most appropriate option
to fill in the blank.
A toddler’s brain...... pretty much
fully developed by the age of
three. : i
(A) are (B) was
O is (D) were.

100. From the given options, identify
the segment in the sentence which
contains the grammatical error.
With the help of skill-based
education offer in colleges, many
students will become eligible for
various jobs.

(A) With the help of

(B) eligible for various jobs

(C) many students will become
(D) skill-based education offer in.
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(A) 2x6=[2

v,
Sx6= 130
© 1 2 3 4 5 ¢ 7
[M[PToTNTQTRTS]
(D)

AB.p B g2 j =8

M
"‘“"}N

+3 +3 +3 +3

(AYH O U s E

L]

8+ 15+21+19+5=68

Hd:

CA S T L E
AN
3+1+19+20+12+5=60

(C) wem w& w@a g &1 A9
TR T

®)e

(A) H&1 571 1 BreHt 379 ot qof
1 g § |

361= 19 %19

484 = 22 x22

676 = 26 x 26
T,

571 = 24 x24 -5
(A) 992 A &1 H qE® W A 9
Be-Tre Wl AR Jgeit F aw FHE
I & 9 eitg 9=, Foe afed, @
e, YISy 991 SRS @ 84

@ ——{A] Il TNl
TF 949 W BT it o GBI
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w1 | foenfefat &t $e1 e
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13.

14.

15.

16.
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©e6 12 21 33
(S N (S T

+6 +0 +12 +15
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3 43 43
(D) B wum styrndt wHRRTETE (1-
w&Hr) &1
B sfveardt FaA A wE freed 17T
frererar &1
forend [ &Y o 1 e ¥
(D) T&en hieH
13-4=29
THU Hiew
21-15=6
i Fiem
42-35=[7]
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APRON—BRU
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[t iferaf et €
A+ A = A-yFR T frerd
"t e el €1
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W%2%wmﬁ'395 FT=e An 8
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27.

29.

31.

32.

33.

ifa = w3 wRoeE w €
(D) it &/ wo w3 & anfaret
it g WA 9 STen @ER &1 T8
eR SfeaTd T WG FEE
} Tafyg ¢ foad =3 wnfa SR i,
furemen, wen Sufs Wi ) 7€ weh
weR | TES WE & 9E ¥ 7 S
21 Wil g° S99 &1 @ §iWT
e €, THt 9% WO $1 F2R F 99
TR ST E

. (C) S50 TF TEWE U & N A

TAE F WU T@ ¢ g€ HHHI
=fedt ¥ 1%, g5 0 ™ ¥ fagt
(droplets) ¥ wreAw ¥ feq €1 81 G
gifera 3t wvmEt JaE i STeTRE F
R e fava ¥R W B T= 4 7Y
F1 U e FRU 1

(D) werg wfafa it fafmg &
(SEBI) wa ¥ wremi &1 fram § 18
Teelt W) 1988 ¥ whayfa SR W
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sfufam 1992 ¥ dga 3 duifas
wifwal e # T

L (D)arémaﬁm’m(m,wﬁt
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. THF] 4% = 20x 71 A1

61.
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69.

(A+B)a:tl1‘a=anzsm=é
1

EN| &l HIHEH =

c#1fA
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X

. B gru form T g93 = 20 A
(A) T 1 THY = 2 W2 10 fe

= 80 fadirgz

. (C) v faei 1 %4 9

480 _
=1 =340

fara g = T 42

_ (42-40
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_ 200 _
="
(A)ﬁmaﬁaﬁmw:maﬁ
A F a3 = x qd
5= g4,
a-5_17
x=8" 1
= 7x-35= 4x-5
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(A) TR F HEA F I
=1:2:3=P:Q:Q
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= 2000
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©) 17 7 & fawa gea = 17 A =
g g9 — 5 el # Hd T4
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70. DYA+B+C= 3x55
A+B= 52x2=104fFm
B+C= 2 x48=96fFm
B#iam= (A+B)+(B+0)
-(A+B+0)
= 104 +96 - 165
= 35 fam
71. (A)5,6,4 @ 3T AH. =60
60 ) 3857 (64
360
257
240
17

@,  Yea = 17
s afE I = 60-17=43
72. (A) A % Tt g G
= 6 x (fFm)?
= 6 x 8 x 8 = 384 =i WX
192 =7 wizr = | fom

3 384 _
384 1 HIZA = lgzﬂzﬁm

sz =g = T (2 x 55)
=%110
73. (C) @i i @ sitwa fram
a9 1994
=>?(4O+630+90)2m'r$
190 __.
714 1995

- (40+6§) +/_l‘2(}) e

20 _,

= = ®g

74, (C) =oTh Y @ Z F frafa & ua

A .

ad 1994 = T (90 - 40) FTg
= T50 %03

T4 1995 = T (120 - 60) Frg
= T60FE

5.

76.

71.

78.

79.

80.

81.

82,

83.

84,

= 1996 = T (90 - 60) Hirg
= T30 HI3
a4 1997 = T (100 - 80) Firg
= 32008
(D) T s = et Fa
ad 1996 = (60 + 70 + 90) Fg
= ¥ 22008
ad 1998 = T (50 + 80 + 100) F5
= T230F3
4 1995 = T (40 + 60 + 120) g
= T 220 H0g
a4 1999
= Z (100 + 120 + 140) ¥
= T 360 F3

(B) Knowledge = 3T 113
(understanding: comprehension).
(D) Infinitive = lo + vV,

3 el keys to lock or unlock T
T €

(A) 71, judge would hear fhe case
7 war & Reporting verb, past
tense A & |

(C) The prison infirmary.

Shelter = 3#/@  (a place giving
temporary protection from bad
weather or danger).

Camp = fuf@ (a temporary
accommodation of huts, tents etc.).
(A) Singular subject agrees with
singular verb.

30 7@ education system is &1 ¥4
B

(A) Indolent (Adjective) = TR
(lazy; idle; lackadaisical; inactive,
lifeless; lethargic).

Lively  (Adjective) =
(energetic; active).

avera o WA A —

They were indolent and addicted to
a life of pleasure,

She is lively little girl with blonde
curly hair and sparkling eyes.

(B) May have is correct usage, It
shows possibility.

(D) I | YA B2 & | #4: past
progressive FTMI

(C) Bountiful (Adjective) =9TT%,
e’ (large in quantity; abundant;
generous; lavish).

e ¥ wEnT 3@ —

He was exceedingly bountiful to
people in distress.

e



86.

37.

88.

Spiritual (Adjective) = snefias
(non-material; incorporeal).

(A) Passion (Noun) = S[A (strong
and barely controllable emotion),
Response (Noun) = ufafisan (a
reaction to something).

Claim (Noun) = TE1 (an assertion
that somthing is true).

(C) Pouch = %=t (a small flexible
bag: sac).

Mask = @1 (disguise, veil).

(C) Elapse (Verb) = sita ST, o=t
(pass; go past; proceed; progress;

* vanish).

89.

90.

91

92,

93.

94.

Prolonged (Adjective) = = THy
% (lengthy; continuing for a long
time).

Cease = HATE THV/FE (come to an
end; stop, conclude).

(A) In particular = fasis w7 @
(especially).

It shows that a statement applies to

one person or thing more than any
other.

In general = 99 ¥9 ¥ (usuaully,
generally).
But ¥ fadiemg sewa 81
(D) Vicious (Adjective) = 99qq,
93U, g% (deliberately cruel. or
violent; brutal).
Submissive (Adjective) = fawg
(compliant; yielding).
Ambitious (Adjective) = HeTaTHia]
(baving or showing a strong desire
and determination to succeed).
(D) Say = make a hypothesis.
(A) Tendency (Noun) =¥3fd (an
inclination towards a particular
characteristic or type of behaviour).
Preference (Noun) = I03dl (a
greater liking for one alternative
over another).
(C) Who = what or which person or
people.
(D) Rectify (Verb) = gURAT (put
right; correct).
Unsettle (Verb) = 3ifeer &1
(upset; disturb).

95.

96.

97.

98.

99.

(B) To bury a hatchet = 3A: firz 53
9 (to agree to end the dis-
agreement; to make peace; (0
become friends again).

T By ol —

Can’t both of you just bury the
hatchet ?

(B) To turn over a new leaf =
SEsiiad A HTAT (to start to act in
better or more responsible way).
e ¥ yEn 3 —

Apaprently he has turned over a
new leaf and he is not smoking any
more.

(C) Infrastructure = AR T
(basic physical or organisational
structures and facilities).

(D) Assault (Verb) = gH&T &
(hit; strike; physically attack).
Defend (Verb) = s=m= =31 (protect
from harm; resist an attack made on
somebody).

Offend (Verb) = 39 w91 (hurt

someone’s feelings).

T W T 3 —

He has been convicted of assauiting
a police officer.

They are fighting to defend their
rights.

(C) A toddler’s brain T singular
subject ¥ |

100. (D) =&l skill based education

76.

77.
78.

79.

80.

in/educational (adjective) offer in @t
ERIDAANIT

=t s
(*) W 3 wHH T B | 39 v o
w@ifsd @wre i ey #0 ¥ g
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